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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. O AETYT S WA U UR A STe: for |
Candidate must write first his / her Reoll No. on the question
paper compulsorily.

2. | U% & Sl SAEEE |
All the questions aré compulsory.

3. U USH W 3L Gl T8 SeR-YiEiehn # &l i@ |
‘Write the answer_to each question in the given answer-book
only. _ :

4. TS 9l & IR @Ue §, 37 9t o ST Th 6 & forg |
For questions having more than one part, the answers to those
parts are to be written together in continuity.

5. U W % el @ ofish wurer # fRd v B T / erw ) T
T WX &=t weT & e i wd O o _
If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi
version should be treated valid.

6. ¥ SHHIH 20 H 28 T Sy foshed & |
There are internal choice in Q. No. 20 to 28.
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| Weightagé of marks for the question is as follows -

v T W e | 30 W a FA IF TR
wE-aa) | 1(i¥x),2t011 1 20
m-am  12t019=8 2 - ‘ 1.6.
W -We) | 20t023=4 s | e
=ve - 3 (D) 24t025=2 | 5 [ 10
m“"(E)- | 26 t028 =3 | ' 6A : | ‘ ‘18A

| ue - R ’
 Section - A

1. e vt et ek e 1 S R S e e 1

. * " Write in the answer-book by selecting the correct option given in the following..

questions : '
| 0 Fefm st (g 0 @ @ aen AT E | |
| @ @ oo @ T
© Rim (D) e | S 1
Diseasé caused by deficiency of Vitamin Bis ~ * |
(A) ' Night bﬁndness (B). Beri-beri
(C) Rickets - (D) Scurvy.
()| R A @ SR BT SR e S § 2
@A) T . B) "EA | |
© dw - D TR 1
Which scientist is called the ‘father of genetics’ ?
(A) Bateson . (B) Mendel
() Morgan D Punnet
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(iti)

(iv)

3

3 g o e e &

A) IgG - B IgM

©  1gp o | | .(D) A |

Which antibody 1s found in mother’s milk ?

@) G (B) IgM

© o * ) . D 1A

@) Caso 42H,0 - ® lNa2.003.10H42O
(© cascl). % o) | (D) Na,CO,.H,0

The chemical formula of plaster of Paris is

(A) CaSO,.2H,0 (B) “Na, CO 4:10H, 0O

] | ,
(@) CasO,.zH,0 , (D) /Na,CO,.H,;0

(v)

i Soft & s W Cu ¥ FH WHA AT ey -1 &

4 Na | ®) ca |

(C) - Au ' (D) Zn.

On ‘the basis of activity series, which element is less reactive than Cy ?
(A) Na ‘ (B) Ca

(C) Au | | (D) Zn.
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(vi) o o 1w &
LS B)
(€) =T x Hiex @ == i A
Unit of electrie power is
(A)  watt (B) joule
(©) newton x metre (D) newton.

(vii) Fretfefa & & Sr-ar 7o sofe damm &

(A) R FHe - (B) <higel
(C)" Tepicn T . _ « (D) uiferEH | ;
Which of the following is a renewable resource ?
(A) ' Solar enefgy | (B) Coal
(C) Natural gas (D) Petroleum.
(viii) TS el 707 fopget g o ¥ 2
@A) T B) fAfFe
(©) oA | (D) ITEERT | |

AIDS resistant properties are found in
(A) Cinchona . (B) Vincristine

(C) Vinblastine - (D)

& (7-Scienc®
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(%) T Hohy Hoheor # F, fiet o1 oTeqomrey ST Wi e &
(A}v3:1 ot | . B 1:3
HE) 2 5 | D) 1:2. | 1
The phenotypic ratio obtained from F, generation of monohybrid crons ia
@A) 3:1 (B) 1.3
(© 2.1 : (D) 1:2.
(X)  TF 50 kg 579 & fve @ 100Naﬁﬂﬂﬁwa%20mﬁ§ﬁaa#}mwﬁ
WW%H’IWW (Nxm%)
(A) 2000 (B) 10000
(C) 200 _ (D). ~5000. 1
A force of 100 N acts on a body of mass 50 kg and the body moves 20 m in the
d1rect10n of force, then what will be the wotrk (in N'xm )2
(A)" 2000 - (B) = 10000
© 200 ' A 4 (D) 5000.
Fretifehe wot & SW T Ufh o S -

A -
nswer the following questions in one line.

AN
2. m@qﬁﬁhﬁﬁ%mﬁ%mﬁmmwm
fafan |
1
Write the nam ;
¢ of catalyst used in the preparation of ammonia by ‘d{e ti f
reacuon o
nitrogen and hydrogen.
5-g-Seienes [SS0a#%]
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3. U fheilae-Her & A S | fafeg 1 L
P . Write the value of one kilowatt-hour in joule.
4., MR mm e dfeme? . S | 1

Gir National Park is Iocafed in which state ?
Wﬁte the scientific nagg of lac insect.

6. W%’mmﬁ'wtﬁﬁﬁmﬁmm%? -
Asian"ElepharﬁS arg found at whicﬁ ghat of Indig ?'

7. W*‘Lﬁmwmﬂvwmﬁiml | | | | ,

Write the chemical formula of the gas obtained by complete combustion of carb
of carbon.

3

g U UK H g A ¥ ?

What is the meaning of ‘Charak’ ?

S-07-Science
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R It =t fy @ s yfeast 3 fafau
Fill in the blanks and write the answer in the answer-bogk -
9. TR, URY & ..o, T ¥ W Bt 1
Carrot is obtained from ................. .. part of the plant.
10. e W 9R S e Wi e T | 1
‘The most abundant element found on the CArthiiS e, . bt :
11, X Hfo oo T Hl Aoe WeHR & ... Y T W fehr | 1
Sir C. V. Raman was awarded the Nobe] Prize in the year... ... ...
- 9ig - q
Section - B
12. ffcifEd ﬂﬁf‘a'a I - ax]
HIcH-A P AN HITH-B
W | T H JufRer e
e A (@) "AFB IH &
(i) B (b) A9R
(iii) AB qF
Match the following :
Column-A Column-B
Blood group Antigen py esent in blood
) A (a) Noneof A and B
M) g | () AandB
(iii) AR ) B
(v) o d A

S-0 7'—Science | S-504 &
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16.

~ Explain chemical change.

§-Q7-Science

8
freadt % e o] T Sl e A % spuafl @ g ey | eI &l
ufemen fafEa | ky b 1+ 1

Write the number of molecules of crystalline water present in one molecule of alum.

Write the definition of neutralization.

e T w5 g | T aRE F Bl T 33 fafEy | 1+1
Write any one example of chemical change.

TRIOT HHTT T T FHE | - 1+ 1

Explain test cross with example.

TP P T Q § FAeT I - 4x 1
P wH-Q
( itferss T ) ( AT )
(i) o (8) - FEH
(i) - e _ (b), Eiee
(i)~ P & N (@ (K

(iv) | TR T )" iR

Match Column-P with Column-Q :

Column-P Column-Q
( Physical quantity ) - | (Unit)
(i displacement : ' (a) coulomb
(i) charge : (b) volt
(iii) electric current () metre
(iv) electric potential (d) ampere
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| 17. ﬁﬁi‘&ﬁmﬁaﬁmﬁxﬁmywﬁwwﬁmqﬂml

! NHQCONH2 +H,O Qliqtﬂ X+7Y. 1+1

Write chemical formulae of compounds X and Yin the following -chemical equation :

NH,CONH,, +H,0 —Urease , 4, |

18. ﬁm:ﬁmmaﬁqmi-ssﬁ@ﬁawW?ELm ﬁ,a‘rqﬁ?%mﬂﬁﬁaﬁf
ST T A |

o

[ Turn over

L Reﬁ'aotiVe ‘indexes of water and glass are 1-35 and 1-51 respectively. Find the
f
[ refractive index of glass with respect of water.
19 TF 80 kg 31 wafr 40 YU T 10 R S e =4t 5RT 3w o off
4 ‘\’Tﬁﬁmﬁ%&r(fmm/sz) 2
A Person of mass 80 kg reaches a‘height of 10 m in 40/8éconds. Fiid the power
| ‘ 2
. "gve - 9|
L Section - C
|
8
20 ) Ry & F-Y gET  HET TG AL 2T USheifere a1 =1y i |
| . et 31 BIFAT FHSST |
@) IRy & suE @ B - 242
(i) From which part of the plant is epium obtained ? Write the name of obtained
- alkaloid.
(ii) Explain two disadvantages ( losses ) of using opium,.
AT / OR
S$~07-Science i
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22.

23.

10

() TSR UIRY T e U W Tedbeirg @1 A felfEn |
() TR & ST W B el Q whr weme | 284
() Write the family of tobacco plant and name of obtained alkalmd
(i) = Explain two disadvantages ( losses ) of using tobacco.
ﬂ%mmﬁw_m_mql 1+1+1+1
HYAT :
TSI | Sl STeT G @t ur ke gehel @t i |

Write four measures to conserve forests.

e =08 1 (B

OR -
Write four indigenous methods of water harvesting prevalent in Rajasthan.
3l ST SR TR & WA U et A e |
HYgar
< Sl w5 A O e ey R o S s e gy |

2+ 7

2+ 2
Write the local and-botanical names of two céreals.

OR

Write the local and.botanical names of two medicinal plants in which the medicine

is obtained from leaf. |
T Fehivi T @ 2o Hlo dto TH o foast % & T T ARy & )
AT

ﬁq‘ ﬁm qn;

144

l+f

What is Raman scattering ? What is the contribution of Dr. C. V. Ram

an in th
of science ? € field

W .
established under his direction ? hich Treactors Wer€

50 7_Science S~504
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Section - D
24, '(i) W%mﬁ?mmwﬁmﬁamn
(i mmmemmwmm@.

() - Draw a labelled dxagram of human excretory system.

(tl) Explain three dlfferent types of mtrogenous wastes with examples

R , emar/OR
() qma;qmwaamwmﬁaml

(i) W%wwaﬂﬁﬁé?ﬁ?mﬁﬁmmaﬁmwmaﬁm I

2+3

@  Drawa labelled dlagram of fernale reproductlve system of human.

2+3 . -

(i) Describe the structure of any three female seconda.ry sex organs of human

o reproductive system. °
O oo ,
- (i) ey p )
Write short notes on the t'oilowing )

(3) Volcano

(‘ﬁ)_~ Earthquake. | ‘

. | amaT/ OR
ﬁwﬁf@awmﬁmﬂﬁrﬁﬂ
(i) Wmumﬁm}m?ﬁﬁm
) e | | |

Wri '
Tite short notes on the following :
(1) Advantageg of weathenng forces in agriculture.

(i)  Erosion.

&07—8 - . . " -

A Prewous Pathshala

2

N =

‘nl
+2=
2 2

[ Turn over

T e e e




26. (A)

(A)

(B)

(C)

(A)

B)

(C)

(A)

(B)

(C)

5 07-Science | |

wug - g
Section - E

Nﬂsmﬁw\ﬂ%fﬁaﬂl |
e e & i e S R | 7
o e EEE ST ) W 1 10*1nﬁﬁwﬁrﬁa%‘|wfamqﬁ
pHa’ﬂ?ﬁfﬁ’r‘éEt A l

Write conjugate acid of NH 3

1+3+1+1

Write any three uses of hydrochloric acid. -

In a solution the concentration of hydrogen ions is 1 x 10! mole per fitre.
Write the pH and nature of this solution.

ares /. OR
H,0 &1 837! &R feffay 1 |
e Fet & FIE A IaAr fefeE | e | J
o et TR 1 10- 12 3t st e ¥ 1 5 e |
pH 9 T feffan |

Iyt 3+1+1
Write conjugate base of H,0.

Write any three uses of nitric acid,

In a solution the concentration of hydrogen jong j 1 13
S 1x10~

mole per 1i
itre.
Write the pH and nature of this solution,

YT / OR & |
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(A)
®)

()

T (A)

®)

(&)

27. (A

(B)

(a)

(B)

,HCIWW@W'L | |
mwéﬁéﬁ?w&ﬁm |

| f
Explain the nature and posmon "0

‘13

Wﬁm:rﬂars@mam‘rﬁmlxw-ﬁtﬁan%vﬁa% lgm%laqq.-ﬁ
pHHW%IﬁEQI o

~1"‘3"-1+1

_ Write conjugate base of HCL

Write any three uses of ‘b'leach'i'ng. powder.

In a solutidn the COﬁcentration of hydrogqn ions is 1. x 10~ 6 mole per litre.

Write the pH and nature of thlS solutlon

Wﬁv%g@qﬁaﬂﬁvﬁﬁﬁﬁaﬁﬁﬁu

Wﬁﬁﬁmﬁmmﬁwﬁﬁﬁaﬁﬁwﬁramﬁmm |

fer
@ oFmawaE 3
() -ﬁao‘&rFlazFi"éFaﬁ'irﬁl.'

140l 51
1+22+2§

Def’me prmclpa_l focus of convex lens. - N
image with the help of ray diagrams for a

L d
convex lens when qb_,ect is place |
().  atinfinity
and 2F,.

-WT/OR

g504%) | [ Turn over

(i) between focus F;
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Wﬁv%gmmaﬁmﬁaw.
Wﬁﬁﬁm@wmﬁuﬁmﬁfwﬁaw/ﬁmm
@) aq:lr—rrqtﬁ ¥ - .
-.(ﬁ) | Wamaﬁra;aﬁaal o o : 1+2%+,2%

Dgfine principal axis of concave let:'as;
Explain the nature and po§ition’of image with the help of ray diagrams f
. N p o or a

concave lens when object is placed

() at infinity

(i) between infinity and optical céntr;g :

3T/ OR
@ mmﬁmwaﬁmw ,
(B) foror festt =t werrer @ Wmﬁqﬁﬁwqﬁwamqﬁ
fre SR St
(i‘) 3 W B
(i) SRET HE CWE | |
(A) Deﬁne focal length\ of convex }ens. t 2% * 2215
(B) Explain the nature and position of image Wlth the heip of .
concave mirror when object is placed v dlagrams for a
(i) - at infinity
. (i) at centre of curvature C. |
g-07-Science 5:504 % .
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28 @ Rt ) e b | !
(i) ﬁaﬁﬁﬂmma?wwﬁ—-rﬁaql | o o ' o 2;4
@) Define 5ioaive;si£y. | - o o
) Write four reasons for biodi\iersii:y loss.
0 Wmﬁﬁmaﬁq&mﬁaaﬁm. R T
(i) w:wﬁmﬂ@ﬁ:ﬁ@waﬁm~ | " - | P |
(i) Define geneﬁig-djverity. | s o o
(i) Explain fn-situ conservation and Ex-situ conservation.
amar/OR.
.(.i): W%wﬁmmﬁﬁql oM
(ﬁj"ﬁaﬁﬁm%mm%ﬁql L i | _2+;;  . 5

| (i) Define spegiiés diversity. -

' 5

(ii) - Write four importances of biodiversity. . o ' ' 8
|

{

|

S_07,sciénce
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